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Our Results

Problem Graph # Sources # Labels/Edge # Edges/Step

MinReach Path O(n) 1 3

MinReach

MinMaxReach

MinAvgReach

Tree

max degree 3 1 1 1

MaxReach Path O(n) 1 4

MaxReach

MaxMinReach

MaxAvgReach

Bipartite

Max degree 3 1 1 4

MaxReach

MaxMinReach

MaxAvgReach

Tree

max degree 3 1 1 10

NP-hard for every λ
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max degree 3 1 1 10

NP-hard for every λ

• DAGs

• Unit disk graphs

• Approximation

preserving, no PTAS



Idea

Reduction from Max2SAT(3)



Open Questions

 Approximation Algorithms

 Tractable Cases/Graph Classes

 FPT algorithms



Thanks!!


